Check-Up...

Tarzan is swinging back and forth on his grapevine. As he swings, he goes back
and forth across the riverbank, going alternately over land and water. Jane decides
to model mathematically his motion and starts her stopwatch. Let t be the number
of seconds the stopwatch reads and let y be the number of meters Tarzan is from
the riverbank. Assume that y varies sinusoidally with t, and that y is positive when
Tarzan is over water and negative when he is over land. Jane finds that when t =
2.8 seconds, Tarzan is at one end of his swing, 23 feet from the riverbank, over the
water. She finds when t = 6.3 seconds he reaches the other end of his swing and is
situated 17 feet from the riverbank, however this time over land.

(a) Where was Tarzan when Jane started the stopwatch?

(b) Provide three instances when Tarzan was located at a position 14 feet from the
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